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125 E 96 576 18,000 224,640,000 2,280 190 70,954 5,913 31.1 27,245
1348 E 96 576 18,000 224,640,000 2,353 196 78,547 6,546 334 25,883
14 E 96 576 18,000 224,640,000 2,353 196 72,945 6,079 310 24,589
154 E 96 576 17,100 213,408,000 2,343 195 80,105 6,675 34.2 24,589
16 E 96 576 17,100 213,408,000 2,342 195 84,130 7,011 35.9 24,589
17TEE 104 624 17,100 138,715,200 2,489 207 57,868 4822 23.2 22,070
185 E 104 624 17,100 138,715,200 2,534 211 78,117 6,510 30.8 22,070
19 E 104 624 17,100 138,715,200 2,516 210 69,931 5,828 278 22,070
20 E 104 624 17,100 138,715,200 2,527 211 80,058 6,672 31.7 22,070
NEE 104 624 17,100 138,715,200 2,471 206 76,239 6,353 30.9 20,000
220 E 104 624 16,200 131,414,400 2,511 209 90,638 7,553 36.1 20,000
23 & 104 624 16,200 131,414,400 2,508 209 83,973 6,998 33.5 20,000
05FE 106 636 16,200 133,941,600 2,595 216 88,212 7,351 340 17,806

X EFH SAx 6EE+1AX 96EE(FHER) =576 A
[ 3A X 10458+ 3N X 1045 & (NEFEE) =624 A ]
3A X 1068 +3 A X 10625 (DEEE) =636A




